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	Function name
	fl_TC_7_2_2_8_TestBody()

	Reason for change
	T1 should be calculated when UE finds out that RLC PDU is missing. In step3 the SS transmits RLC PDU#3 containing RLC SDU#2.  UE starts t-Reordering at this time. Note T1 should start to calculate in step3 not in step1.

	Summary of change
	Calculate T1 in step 3 instead of step 1.

	TTCN module
	ATS_LTE\ 7_2\RLC_UM_Testcases.ttcn

	MCC160 Comment
	



Before Change:
	<<SKIPPED CODE>>
//@siclog "Step 1" siclog@
    // The SS transmits RLC PDU#1 containing first segment of RLC SDU#1.
    v_Timing := f_EUTRA_GetNextSendOccasion(eutra_Cell1); // @sic R5s170822 sic@
    // Note T1
    v_SubFrameTimingT1.HSFN.Number := v_Timing.HSFN.Number;
    v_SubFrameTimingT1.SFN.Number := v_Timing.SFN.Number;
    v_SubFrameTimingT1.Subframe.Number := v_SubframeOffset;
    f_TxUMD_PDUpartofSDU (p_RLC_Rec,
                          cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_SubframeOffset, v_Timing.HSFN.Number),
                          tsc_RLC_SDU1, 0, 75, tsc_FI_StartOfSDU);
  
    //@siclog "Step 2" siclog@
    // The SS does not transmit RLC PDU#2 containing last segment of RLC SDU#1.
    // nothing sent in next subframe
    
    //@siclog "Step 3" siclog@
    // The SS transmits RLC PDU#3 containing RLC SDU#2.
    p_RLC_Rec.UM_VTUS  := 2;
    v_Timing := f_SubFrameTiming_IncrSFN(v_Timing); // @sic R5s170822, R5s190187, R5s190398 sic@
    f_TxUMD_oneSDU( p_RLC_Rec,
                    cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_SubframeOffset, v_Timing.HSFN.Number),
                    tsc_RLC_SDU2 );

    //@siclog "Step 3A" siclog@
<<SKIPPED CODE>>  




[bookmark: OLE_LINK4][bookmark: OLE_LINK5]
After Change:
	<<SKIPPED CODE>>
//@siclog "Step 1" siclog@
    // The SS transmits RLC PDU#1 containing first segment of RLC SDU#1.
    v_Timing := f_EUTRA_GetNextSendOccasion(eutra_Cell1); // @sic R5s170822 sic@
    // Note T1
    /*COMMENTED OUT v_SubFrameTimingT1.HSFN.Number := v_Timing.HSFN.Number;
    v_SubFrameTimingT1.SFN.Number := v_Timing.SFN.Number;
    v_SubFrameTimingT1.Subframe.Number := v_SubframeOffset;*/
    f_TxUMD_PDUpartofSDU (p_RLC_Rec,
                          cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_SubframeOffset, v_Timing.HSFN.Number),
                          tsc_RLC_SDU1, 0, 75, tsc_FI_StartOfSDU);
  
    //@siclog "Step 2" siclog@
    // The SS does not transmit RLC PDU#2 containing last segment of RLC SDU#1.
    // nothing sent in next subframe
    
    //@siclog "Step 3" siclog@
    // The SS transmits RLC PDU#3 containing RLC SDU#2.
    p_RLC_Rec.UM_VTUS  := 2;
    v_Timing := f_SubFrameTiming_IncrSFN(v_Timing); // @sic R5s170822, R5s190187, R5s190398 sic@
    v_SubFrameTimingT1.HSFN.Number := v_Timing.HSFN.Number;
    v_SubFrameTimingT1.SFN.Number := v_Timing.SFN.Number;
    v_SubFrameTimingT1.Subframe.Number := v_SubframeOffset;    
    f_TxUMD_oneSDU( p_RLC_Rec,
                    cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_SubframeOffset,    v_Timing.HSFN.Number),
                    tsc_RLC_SDU2 );

    //@siclog "Step 3A" siclog@
<<SKIPPED CODE>>




